Graphs

Question 1

Taking m as the gradient and c as the y-axis intercept, find the equation of the following
lines:

a m=2 c=1
b) m =1, c=4
c) m=3 ¢c=-3

d m =25 c=-2

g m= -6 c=5

h)mzl,c=2
2

) m=2c=1
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Graphs

Question 2

Find the gradient and the intercept of the following linear functions:

a) y=5x+1
b) y=2x+6
c) y =3x+2
d y=x+8
e) y =x-—10
) y=4x-1
9) y=3x-5
h) vy =2x

i) y=—4x+2

D y=-7x+1
Ky y=-3x—-2
) 2y=6x—-5
m) 2y = —3x + 4
n) 3y =6x+10

0) S5y=x—-2
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Graphs

Question 3
Find the gradient and the intercept of the following linear functions:

Q) y=1-2x
b) y= -5+ 3x
C) y=3-x

d y=—-4+2x

e) y=12—-2x
) y=—-1-7x
g v+ 1=3x
h) y + 3=x

i) v+ 6=4x
) y—-8=6x

k) y — 16 = 2x

) 2y=4x+2
m)dy + 1=3x+6
ny—-—1=-7x+10
0) y—x—6=0

p) 3y —6x—2=0
q) 2y+ 5x =0

r %y = 5x+2

$) sy +4=5x+11
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Graphs

Question 4
Find the equation of the line that crosses the y-axis at ..

a) (0,1)andis paralleltoy = 2x

b) (0,5)andis paralleltoy = x

c) (0,2)andis paralleltoy = 5x

d) (0,—1)andisparalleltoy =3x+3
e) (0,—3)andisparalleltoy = 7x+ 2

f) (0,—4)andis paralleltoy = 2x + 4

Question 5
Which of the following lines are parallel?

Q) y =4x+2

b) 8x+1—2y =0

C) 2y — 4x =2

d 2—y =4x
Question 6

Which of the following lines are perpendicular?

a y=x+3
b) y =2x+5
C) 2y+x=6

d) 2y =x+2
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